3. Microsoft event study

a.,b.  To estimate the anticipated effect of antitrust restrictions on Microsoft we do an event study.  For the “IO method” discussed in class, the regression equation is 
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where 
[image: image2.wmf]t

ms

R

,

is the percentage change in the value of Microsoft on day t, 
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 is the percentage change in the value of the market (here defined as the S&P 500) on day t, and 
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 is an indicator equal to 1 on the day of event i (or the first trading day afterwards if event i occurs on a weekend). The Stata commands that implement this are as follows:

infile using msprice.dat; dictionary 

{

        byte   day

        byte   month

        int    year

        float  msprice           "closing price for Microsoft, MS"

        float  mktclose          "S&P 500 closing price"

        float  volume            "Microsoft volume traded"

}

(1517 observations read)

. gener rms = (msprice[_n]-msprice[_n-1])/msprice[_n-1];

(1 missing value generated)

. gener rmkt = (mktclose[_n]-mktclose[_n-1])/mktclose[_n-1];

(1 missing value generated)

. gener byte ftcann = month==3 & day==12 & year==1991;

. gener byte ftcend = month==2 & day==5 & year==1993;

. gener byte dojann = month==8 & day==23 & year==1993;

. gener byte dojsetl = month==7 & day==18 & year==1994;

. gener byte sprkgrl = month==1 & day==20 & year==1995;

. gener byte sprkrej = month==2 & day==14 & year==1995;

. gener byte appeals = month==6 & day==16 & year==1995;

. gener byte stlaprv = month==8 & day==21 & year==1995;

. regress rms rmkt-stlaprv;

  Source |       SS       df       MS                  Number of obs =    1516

---------+------------------------------               F(  9,  1506) =   53.98

   Model |  .153882063     9  .017098007               Prob > F      =  0.0000

Residual |  .477047296  1506  .000316764               R-squared     =  0.2439

---------+------------------------------               Adj R-squared =  0.2394

   Total |  .630929359  1515  .000416455               Root MSE      =   .0178

------------------------------------------------------------------------------

     rms |      Coef.   Std. Err.       t     P>|t|       [95% Conf. Interval]

---------+--------------------------------------------------------------------

    rmkt |   1.484111   .0689688     21.519   0.000       1.348826    1.619396

  ftcann |  -.0244717   .0178133     -1.374   0.170      -.0594132    .0104698

  ftcend |   .0482815   .0178043      2.712   0.007       .0133577    .0832054

  dojann |   .0119782   .0178047      0.673   0.501      -.0229464    .0469028

 dojsetl |   .0342181   .0178042      1.922   0.055      -.0007056    .0691417

 sprkgrl |   -.023472   .0178074     -1.318   0.188       -.058402     .011458

 sprkrej |  -.0056303    .017804     -0.316   0.752      -.0405535     .029293

 appeals |   .0166796   .0178064      0.937   0.349      -.0182484    .0516077

 stlaprv |  -.0249747   .0178046     -1.403   0.161      -.0598993    .0099498

   _cons |   .0008571   .0004601      1.863   0.063      -.0000454    .0017596

------------------------------------------------------------------------------

The largest coefficient is the one associated with the end of the FTC investigation, and it is also the only coefficient that is statistically significant at the 5% level.  Assuming that

1) the market believed that the FTC would definitely take action against Microsoft prior to this announcement, and

2)  the market believed that the probability of future antitrust action was zero after this announcement,

the change in the PDV of Microsoft’s future profits due to antitrust action is the event coefficient multiplied by Microsoft’s market cap at the time of the event.  Adjusting for splits, Microsoft closed at $85 per share the day before this event and there were 280.2 million shares outstanding.  Hence the estimated change in value is (0.4828)($85)(280.2 million), or about $1.15 billion.

To check these assumptions you would want to read newspaper articles around the time of the event. Checking the newspapers would also help you determine whether the one-day event windows are appropriate.

(For a published event study of the Microsoft antitrust cases, see:

George Bittlingmayer and Thomas Hazlett (2000), “DOS Kapital: Has antitrust action against Microsoft created value in the computer industry?” Journal of Financial Economics 55, 329-359.)
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